[image: image1.jpg]PP M TA iR R

TR T Al Lever-type Air Cylinder

WESBHT

o RAZERE - REMERRCERE - RSN AREME  FEELRRERE  £2
WIEEr RN - BICHEE o

© HIEMEREESS  AEREXE  BEARGR  REMETKISRENHNERNRR
+ SR -

HProduct Introduction
» The series of air cylinder employs the standardized jig cylinder and fitted with lever type clamping
mechanism Piston push forward for clamping, Major parts are mounted outside of the cylinder
barrelfor convenient maintenance.
+ The cylinder barrelis manufactured from aluminum aloy, featuring smooth internal surface and
long service life. Clamping mechanism is manufactured from structural carbon steel for maximum
durabilty and long service Ife.

METREERE Ordering Code

AT
Bore of Cylnder

022,

108





[image: image2.jpg]mmax wrm i *Bore 920- 2100 % Pmax:10kg/c

WESBHT
© ZRAFBE  FWBE - (TRHRITEZDE - AEEZRTMBROBE -
© AIEMEIRERES - AERENE o
© BRFERBTFT TR HEGRD -

M ET#E1ERE Ordering Code

| IR ‘ WA ‘ ' ‘ ‘ 5 ‘ 95 ‘ WS | s
Sencs Bore o Cyider Sioke et ssa | | Exiemalthresd w Sersorswich
T S
T0020mm s 2028 i 20cs
S5 ot =
i -
o H
I T
S0estnm B
ETET =
w0 8inm
o0 2 100m
WEBR-EETRER UNITmm
SRATPIFE Bore of oylinder 137%2 stroke BATE (M)
20:25:32 405063 | 10:15:20:25:30 4050 300
080 - 100 1015202530 40 50 125





[image: image3.jpg]PN AJT B

nmen BIER

Air Thin-type Cylinder

EDimensional table

232-2100

S+ST
PA PA|

23 e

il L]
clo| e |efo|n| w || n@=mfea|r|v|x |v |z Blaal o [o
L3 s B
= - S T = H =
020 | 15 | 10 | wsxan | 24 | 13 | 55 |msx0s ke s [92 |63 | 1 [ms |5 [lwer |5
- PR I = -
025 | 2 | 12| wswos |28 [ 17[ 6 |mext ool s w0 [42 [ 78 [ 1 [ 21 |0 [se[wioras] s
052 | 53 |16 | et |4 | 22| 7 |Moxtos| 485 |58 51 | o |14 | e |42 | 78 | 1 | 28 | | |wars |8
040 | 30 | 16 | usPT |40 28| 7 [Woxtzs| 565 |7 akg | 10 |14 | 52 | 62 | 108 | 16 208 | |27 [wrers |8
050 | & 20| Pt |48 38| o [wioets| 0 [p052: . 108 |18 |2 | 62 | 108 |16 288 | |27 [wiers |m
, s v
063 | & 20| Pt | o0] 40| o [wroers| s [sposz: | 20| 75 | 2 | 08 |18 |28 | o7 [wiers |
00 | 5 |25 |wmer [ 7a] 45 | 1 [wiwz | 102 [08Hn o] 10 |27 | o | 82 |08 [18 | 41 | [ wazis e
0100 3 |30 |weeT [90[45] o [miexas| 122 |85 132 15 |26 | 114 | 102 | 173 | 2 45 33 [M26"1.5 | 14





[image: image4.jpg]2
(O~ Air Jig Cylinder

WESBHT
© ZRAFBE  FRBE - (TRHRITEZDE - AEEZRTMBROBE -
© AIEMERERAEDRES  ABRRENE - A RENEE -
© BRFERBTFT TR HEGRD -

M ET#E1ERE Ordering Code

BEAT

Bore of Cylnder

| B ‘ g

Seres

‘ s | il

Sensor swich
S e
202

1661 imm
20020mm

Siroke
8
=

25.035mm g
q
B
®

3 050mm
S00imm
Suosimm
& o6smm
S0 o80nm

0001 0omm

WEBR-EETER UNITmm

SELPIE Bore of eylinder 1712 stroke BAIGE (RHR)
216 1015202530

6201251324050 63 80100 | 10:15:2025-30 40+ 50 300





[image: image5.jpg]nmen BIER *Bore; 016- 9100 % Pmax 10kg/cm’

HDimensional table

& "
of e e | e | e fn]n] w | N o || E| 7w |ra| @
o
e =
ote | o | |2 [wsos| & | & | 5 [woos | o1 | oaoweoamwmor |07 |28 |11 | 2 [105 s
020 | 10 | 22 | 22 |msx08| 8 [45| 3 |msx08 | 35 Bx5F « 243 M5x08 9 |2 "“gl 11| 32 | 14 Mgxi 25
225 | 12 [ 26 |28 |M5x08| 10 [ 45 [ 3 | MEx1.0 (445 Bx5% + 843 M5X0.8 85 | 30 16.5| 38 |17.5 |M10x1.25)
o2 | 16 | %2 | s | et | 1] 7 | 5 |wewtas| 4 | ot sz weto | i0s|ots| | 18 | 45 |20 urets
i | 16 | 40 | 40 [Pt | 1] 7 | 7 |wetas| s0 | orm.wsa-weto | 1ss|sws| | 16 |ses|eospuients
%0 | 20 | 50 | 50 |wer | 17| 8 | 6 |wiowis|72s| tosn. eos werias |ws| 40| | 22| 65 [ses|wenrs
2 |62 |62 [T | 17 | 8 | & |wioxis| o8 | 1ectoss ose wioxis |1ms|ses| |22 | s0 |zespurents
o0 | 25 | 82 | 82 | et | 22| 18 | 10 |wieszo| o | 1extosk - o8 wiosts 22| 85 | | 25 | 100 355 pweaets
100] 50 [ 103 | 108 | et | 27 | 17 | 14 |wawwas| 134 | 17serin . o105 wizsi7s | 245 | o4 | | 28 | 124 355 puaseis





[image: image6.jpg]AJG B1iR BRI

26.5+ST.

M8x1.0x47,

40,5T=50,75,100 *Pmax 10Kg/cm’





[image: image7.jpg]nmen BIER

#Bore 912,632 Pmax 10kg/om’

HDimensional table

e

=R A8 D|E UU| WV (W XX z
12 [154] 3 7 |33 20 M3 | M3 | 3| M3’ 5
16 [17.5) 3 9 |43 24 M4 [ M4 | 4 | M5! 6
20 [22] 4 12 [ 54 30 M5 | M5 | 5| M5 7
25 [26]5 1464 % M6 [ M6 | w6 | M5! 9
32 |30]6 1874 44 M6 | w6 | w6 [ M5





[image: image8.jpg]#Bore: 916,625 sPmax 10kg/om’

HDimensional table

ngBCDEG H | 1|3 L |wmaMBMMMRIN1N2 P |PP|QA| Q@ |R
16 3532| 2 [3 |8 [5h9%uw| 6 | 2 [2H99™®6.5] 8 [34]25] 11| 7 [15[17.6] 5 [M3x05 |25
25 [3640]a7] 23 [12[6n9%ms| 8 |3 [2r05™[ & [10]a5[aa 15[ 7 [21]24] 6 [max05[28
211 fual wu | x(xa| xx Y| vy |z |za| 2

»E

16 | M3X0.5[4.5| M3X0.5[12.5) 2 [2H99°%| 11 [2HO ™| 3 |1.5[17THOT™

25 |msxo8] 6 [Max07[17[ 3 [2H95™]14.5[3H0T™] 5 [1.5]26H9 T





